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t=2.7mm
(KN/ ) (%)
m) Mpa
6/15 167 0 366 636 54 75(3.2 -0.4m
6/21 -0.20 | 0.037 366 288| 373 60 61
7/2 -2.66 | 0.071]366 288 360 60 70
7/7 -362| 0070|366 288 333 60 67
7/13 -4.83 | 0.081 730| 427 87 80[-43 -7.2m
7/25 -6.56 | 0.087 730 425 87 68
8/7 -11.60 | 0.166 | 310 350 495(87 49 76|5
8/29 -11.60 | 0.176 | 310 350 549[49 41 766
9/18 -16.18 | 0.237 | 310 350| 368 41 636
10/17 -17.50 | 0.250 |350 1,170 593[41 82 79
10/21 -18.45 | 0.248 1,070| 1,561 82 89 9 4.000x
10/27 -19.73 | 0.256 1.323] 1,561 85 93
RC
+ 100 + 20 +6 +11
-50 -50 +23
— -50 +1 +21
-50 -20 +40
— -50 +11 +24
-100 -50 +15
+ 30 -2
+ 50 30
— 1/6,800
— — 1/4,500
0.01Mpa —1,224KN




